LIS

HSA-F (‘BRigESHsH > F)

e y3

B8 BE FAR 7Uh— AR BURE  BRABEYE BIELRS @ AGE KE 5

(mm) £E -$77 (mm) trix (mm) (mm) L7 AE AE it

(mm) ® @ @ ® @ @ Nm @ &

HSA-F M8 5/-/- (M8 55) 2004113 8 55 z 17 5 - - 44 54 8 15 100 800 ¥13,200
HSA-F M8 20/10/- (M8X70) 2004114 8 70 w 32 20 10 - 44 54 87 15 100 800 ¥14,700
HSA-F M8 35/25/- (M8x85) 2004115 8 85 t 47 3% 25 - 44 54 87 15 80 480 ¥12,000
HSA-F M8 80/70/40 (M8%130) 2004117 8 130 k 92 80 70 40 44 54 87 15 50 300 ¥10,100
HSA-F M10 5/-/- (M10%68) 2004118 10 68 z 19 5 - - 5 65 95 25 50 400 ¥8,600
HSA-F M10 20/10/- (M10%83) 2004119 10 83 w 34 20 10 - 55 65 95 25 50 300 ¥9,500
HSA-F M10 35/25/- (M10%98) 2004170 10 98 t 49 3% 25 - 55 65 95 25 40 240 ¥7,800
HSA-F M10 50/40/10 (M10X113) 2004171 10 113 q 64 50 40 10 55 65 95 25 40 240 ¥8,500
HSA-F M12 5/ -/- (M12X85) 2004172 12 85 z 22 5 - - 72 8 122 50 25 200 ¥5,800
HSA-F M12 20/5/- (M12X100) 2004173 12 100 w 37 20 5 - 72 8 122 50 25 200 ¥6,200
HSA-F M12 35/20/- (M12X115) 2004174 12 115 t 52 3% 20 - 72 87 122 50 25 150 ¥7,100
HSA-F M12 65/50/15 (M12X145) 2004175 12 145 n 82 65 50 15 72 87 122 50 25 150 ¥7,400
HSA-F M16 5/-/- (M16X102) 2004177 16 102 z 26 5 - - 85 100 140 80 16 96 ¥8,100
HSA-F M16 40/25/- (M16X137) 2004178 16 137 S 61 40 25 - 85 100 140 80 16 96 ¥9,400
HSA-F M20 55/30/15 (M20X170) 2036313 20 170 p 81 55 30 15 98 123 138 200 10 60 ¥18,200
HSA-R (R~ L ASUS 316) aﬁ&ﬂ
=] BE FUAR 7Uh— AvR RURE  RARAME BIFILRES @ AdE  KE o5

(mm) 2R %7 (mm) trix (mm) (mm) ML A AB Gt

(mm) Nm) (&) (F)
® @ @ ® @ O

HSA-R M6 5/-/- (M6X50) 2036314 6 50 z 15 5 - - 42 - - 5 200 1,600 ¥47,100
HSA-R M6 20/10/- (M6X65) 2036315 6 65 w 30 20 10 - 42 52 - 5 200 1,200 ¥49,100
HSA-R M6 40/30/10 (M6X85) 2036316 6 85 S 50 40 30 10 42 52 72 5 100 800 ¥26,100
HSA-R M8 5/-/- (M8X55) 2004197 8 55 z 17 5 - - 4 - - 15 100 800 ¥35,200
HSA-R M8 20/10/- (M8X70) 2004198 8 70 w 32 20 10 - 44 54 - 15 100 800 ¥39,200
HSA-R M8 35/25/- (M8X85) 2004199 8 85 t 47 3% 25 - 4 54 - 15 80 480 ¥32,800
HSA-R M8 55/45/15 (M8x105) 2004200 8 105 p 67 55 45 15 44 54 84 15 50 400 ¥24,700
HSA-R M10 5/-/- (M10X68) 2004201 10 68 z 19 5 = = 5 = = 25 50 400 ¥25.,400
HSA-R M10 20/10/- (M10x83) 2004202 10 83 w 34 20 10 - 5 65 - 25 50 300 ¥31,800
HSA-R M10 50/40/10 (M10X113) 2004204 10 113 a 64 50 40 10 55 65 95 25 40 240 ¥28,200
HSA-R M12 5/-/- (M12X85) 2004207 12 85 z 22 5 - - 72 - - 50 25 200 ¥22,400
HSA-R M12 20/5/- (M12X100) 2004208 12 100 w 37 20 5 - 72 8 - 50 25 200 ¥24,400
HSA-R M12 35/20/- (M12X115) 2004209 12 115 t 52 3% 20 - 72 8 - 50 25 150 ¥26,000
HSA-R M16 5/-/- (M16X102) 2004214 16 102 z 26 5 - - 8 - - 80 16 96 ¥33,500
HSA-R M16 40/25/- (M16X137) 2004216 16 137 S 62 40 25 - 8 100 - 80 16 96 ¥40,000
HSA-R M20 10/-/- (M20X125) 2036317 20 125 Yy 36 Mm" - - 9% - - 200 10 60 ¥40,700
HSA-SS (GP9vY+—947) et (_/ @ O
B8 BE FHE 7Uh— AyR QURE  BARMME BRIEFILRE @ AGE K EE

(mm) £E v-%Y7 (mm) tfix (mm) (mm) MV AE A @

(mm) ® @ ® @ @ @ Nm & &
HSAM6 20/10/- (M6X65) S5 3499875 6 65 w 30 20 10 - 42 52 - 5 200 1,200 ¥35300
HSA M8 20/10/- (M8%70) SS 2101716 8 70 W 32 20 10 - 44 54 - 15 100 800 #14,100
HSA M10 20/10/- (M10x83) SS 2101718 10 83 W 34 20 10 - 55 65 - 25 50 300 ¥9,500
HSA M12 20/5/- (M12X100) SS 2101970 12 100 W 37 20 5 - 72 87 - 50 25 200 ¥6,200
HSA M12 35/20/- (M12x115) S5 2101971 12 115 t 52 35 20 - 72 87 - 50 25 150 ¥7.800
HSA M16 40/25/- (M16X137) S5 2101973 16 137 S 61 40 25 - 85 100 - 80 16 96 ¥9,300
Y F4VIY—=IU (TECa%IY3VIVRTT.) —t——
B8 2R (mm) BE FENH RS
tyF 4 2IWY—IL HS-SC 150 (M12&FT) 150 337918 1 ¥1,800
tyF42JY—IL HS-SC 300 (M12%FT) 300 337919 1 ¥2,600
Ty F 42 —JL HS-SC (M6-M16) 150 2051443 1 ¥4,200
7 7vh—-88 133



